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	Ques
	Answer
	Level
	Skill
	Subskill
	Item #

	1
	B  
	Hard  
	Inquiry / Technology & Engineering  
	SPI 0707.Inq.2 Select Experimental Procedures [99104]
	D85135

	2
	B  
	Hard  
	Inquiry / Technology & Engineering  
	SPI 0707.Inq.2 Select Experimental Procedures [99104]
	D85130

	3
	B  
	Hard  
	Inquiry / Technology & Engineering  
	SPI 0707.Inq.2 Select Experimental Procedures [99104]
	D85137

	4
	A  
	Hard  
	Inquiry / Technology & Engineering  
	SPI 0707.T/E.1 Test Prototype [99108]
	D103986

	5
	B  
	Hard  
	Inquiry / Technology & Engineering  
	SPI 0707.T/E.1 Test Prototype [99108]
	D104129

	6
	D  
	Hard  
	Inquiry / Technology & Engineering  
	SPI 0707.T/E.3 Intented vs Unintended Consequences [99110]
	D104243

	7
	C  
	Hard  
	LS: Cells/ Flow of Matter and Energy/ Heredity  
	SPI 0707.1.1 Cell Organelles [99112]
	D73987

	8
	C  
	Hard  
	LS: Cells/ Flow of Matter and Energy/ Heredity  
	SPI 0707.1.5 Diffusion [99116]
	D52492

	9
	B  
	Hard  
	LS: Cells/ Flow of Matter and Energy/ Heredity  
	SPI 0707.3.2 Oxygen / Carbon Exchange [99118]
	D56177

	10
	A  
	Hard  
	LS: Cells/ Flow of Matter and Energy/ Heredity  
	SPI 0707.3.2 Oxygen / Carbon Exchange [99118]
	D65080

	11
	B  
	Hard  
	LS: Heredity  
	SPI 0707.4.3 Genes and Heredity [99121]
	D77279

	12
	B  
	Hard  
	LS: Heredity  
	SPI 0707.4.3 Genes and Heredity [99121]
	D84296

	13
	C  
	Hard  
	ES: The Earth  
	SPI 0707.7.3 Rock Cycle [99125]
	D74635

	14
	C  
	Hard  
	ES: The Earth  
	SPI 0707.7.5 Lithospheric Plates [99127]
	D75598

	15
	A  
	Hard  
	ES: The Earth  
	SPI 0707.7.5 Lithospheric Plates [99127]
	D76111

	16
	B  
	Hard  
	ES: The Earth  
	SPI 0707.7.5 Lithospheric Plates [99127]
	D76497

	17
	A  
	Hard  
	ES: The Earth  
	SPI 0707.7.6 Plate Movement [99128]
	D87552

	18
	D  
	Hard  
	ES: The Earth  
	SPI 0707.7.7 Human Impact [99129]
	D86685

	19
	A  
	Hard  
	PS: Motion  
	SPI 0707.11.1 Simple Machines [99130]
	D111584

	20
	C  
	Hard  
	PS: Motion  
	SPI 0707.11.2 Force and Work [99131]
	D2905

	21
	C  
	Hard  
	PS: Motion  
	SPI 0707.11.2 Force and Work [99131]
	D18583

	22
	B  
	Hard  
	PS: Motion  
	SPI 0707.11.2 Force and Work [99131]
	D18584

	23
	D  
	Hard  
	PS: Motion  
	SPI 0707.11.3 Speed and Velocity [99132]
	D73985

	24
	B  
	Hard  
	PS: Motion  
	SPI 0707.11.4 Newton's Laws [99133]
	D84590

	25
	D  
	Hard  
	PS: Motion  
	SPI 0707.11.4 Newton's Laws [99133]
	D86365

	26
	A  
	Hard  
	PS: Motion  
	SPI 0707.11.4 Newton's Laws [99133]
	D84591

	27
	C  
	Hard  
	PS: Motion  
	SPI 0707.11.5 Waves [99134]
	D104288

	28
	D  
	Hard  
	Inquiry / Technology & Engineering  
	SPI 0707.Inq.2 Select Experimental Procedures [99104]
	D85314

	29
	A  
	Hard  
	Inquiry / Technology & Engineering  
	SPI 0707.Inq.2 Select Experimental Procedures [99104]
	D85136

	30
	D  
	Hard  
	Inquiry / Technology & Engineering  
	SPI 0707.Inq.2 Select Experimental Procedures [99104]
	D85129

	31
	C  
	Hard  
	Inquiry / Technology & Engineering  
	SPI 0707.Inq.2 Select Experimental Procedures [99104]
	D85202

	32
	A  
	Hard  
	Inquiry / Technology & Engineering  
	SPI 0707.Inq.2 Select Experimental Procedures [99104]
	D84704

	33
	D  
	Hard  
	Inquiry / Technology & Engineering  
	SPI 0707.Inq.2 Select Experimental Procedures [99104]
	D84702

	34
	B  
	Hard  
	Inquiry / Technology & Engineering  
	SPI 0707.Inq.2 Select Experimental Procedures [99104]
	D85315

	35
	C  
	Hard  
	ES: The Earth  
	SPI 0707.7.5 Lithospheric Plates [99127]
	D76494

	36
	A  
	Hard  
	PS: Motion  
	SPI 0707.11.2 Force and Work [99131]
	D104297

	37
	B  
	Hard  
	PS: Motion  
	SPI 0707.11.4 Newton's Laws [99133]
	D77059

	38
	A  
	Hard  
	PS: Motion  
	SPI 0707.11.4 Newton's Laws [99133]
	D84592

	39
	B  
	Hard  
	PS: Motion  
	SPI 0707.11.4 Newton's Laws [99133]
	D85851

	40
	B  
	Hard  
	PS: Motion  
	SPI 0707.11.4 Newton's Laws [99133]
	D1029

	41
	B  
	Hard  
	PS: Motion  
	SPI 0707.11.4 Newton's Laws [99133]
	D1438

	42
	D  
	Hard  
	PS: Motion  
	SPI 0707.11.4 Newton's Laws [99133]
	D1442

	43
	C  
	Hard  
	PS: Motion  
	SPI 0707.11.4 Newton's Laws [99133]
	D1704
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	Question 1 of 43

	A team of scientists want to conduct a nuclear test. Where can they conduct the test?

	 
	 
	 
	 
	 

	[image: image1.wmf]  
	A.
	a dense forest

	[image: image2.wmf]  
	B.
	a barren desert

	[image: image3.wmf]  
	C.
	the Atlantic ocean

	[image: image4.wmf]  
	D.
	outskirt of a city 
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	A scientist wants to build a laboratory to study the effect of harmful aquatic bacteria on humans. Where can the scientist construct the laboratory?

	 
	 
	 
	 
	 

	[image: image5.wmf]  
	A.
	near a river bank

	[image: image6.wmf]  
	B.
	away from the city

	[image: image7.wmf]  
	C.
	near a city hospital 

	[image: image8.wmf]  
	D.
	in a residential area 
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	A scientist instructs workers to transfer gas cylinders to stores without telling them anything about the gas. The cylinders had the symbol shown below.
[image: image9.png]




	 

	Ethically, the scientist must ___________.

	 
	 
	 
	 
	 

	[image: image10.wmf]  
	A.
	transport the gas to the stores himself 

	[image: image11.wmf]  
	B.
	let the workers know that it is a dangerous gas 

	[image: image12.wmf]  
	C.
	not inform the workers about the nature of gas 

	[image: image13.wmf]  
	D.
	only instruct the workers to finish the job on time
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	A manufacturer would like to market a dog whistle that is inaudible to humans but can be heard by dogs. The whistle emits a sound with a frequency of 30,000 Hz. If the whistle follows protocol, which of the statements below must be true?

	 
	 
	 
	 
	 

	[image: image14.wmf]  
	A.
	A dog hears 67 Hz to 45,000 Hz, and a human hears 64 Hz to 23,000 Hz.

	[image: image15.wmf]  
	B.
	A dog hears 65 Hz to 23,000 Hz, and a human hears 65 Hz to 35,000 Hz.

	[image: image16.wmf]  
	C.
	A dog hears 10 Hz to 30,000 Hz, and a human hears 10 Hz to 30,000 Hz.

	[image: image17.wmf]  
	D.
	A dog hears 65 Hz to 40,000 Hz, and a human hears 65 Hz to 30,000 Hz. 
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	Some engineering design problems, such as designing an aircraft or watercraft, involve extremely expensive trials. In these cases, a(n) _______________ may be used to save time and money.

	 
	 
	 
	 
	 

	[image: image18.wmf]  
	A.
	final model

	[image: image19.wmf]  
	B.
	surrogate model

	[image: image20.wmf]  
	C.
	actual size trial

	[image: image21.wmf]  
	D.
	clone copy
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	A technological advancement that blocks or interferes with the natural beauty of earth has the greatest effect on which of the following?

	 
	 
	 
	 
	 

	[image: image22.wmf]  
	A.
	political values

	[image: image23.wmf]  
	B.
	social values

	[image: image24.wmf]  
	C.
	monetary values

	[image: image25.wmf]  
	D.
	aesthetic values
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	Both plant cells and animal cells have storage organelles called vacuoles. Why are the vacuoles in plant cells generally larger than those in animal cells?

	 
	 
	 
	 
	 

	[image: image26.wmf]  
	A.
	animal cells are smaller than plant cells

	[image: image27.wmf]  
	B.
	plant cells have cell walls, animal cells don't have cell walls

	[image: image28.wmf]  
	C.
	plant cells need more space to store water/nutrients than animal cells

	[image: image29.wmf]  
	D.
	animal cells store fat rather than water and nutrients
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In the system shown in the diagram above, water molecules are most likely to diffuse in which direction?

	 
	 
	 
	 
	 

	[image: image31.wmf]  
	A.
	from B to D

	[image: image32.wmf]  
	B.
	from A to B

	[image: image33.wmf]  
	C.
	from C to A

	[image: image34.wmf]  
	D.
	from C to D
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	Which of the following is true?

	 
	 
	 
	 
	 

	[image: image36.wmf]  
	A.
	Humans, goats, cats, and plants release oxygen during photosynthesis.

	[image: image37.wmf]  
	B.
	Humans, goats, cats, and plants release carbon dioxide during respiration.

	[image: image38.wmf]  
	C.
	Plants release oxygen during respiration.

	[image: image39.wmf]  
	D.
	Plants take in oxygen for photosynthesis.
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	Which of the following is true of the diagram?

	 
	 
	 
	 
	 

	[image: image41.wmf]  
	A.
	Plants release carbon dioxide during respiration.

	[image: image42.wmf]  
	B.
	Plants release carbon dioxide during photosynthesis.

	[image: image43.wmf]  
	C.
	Humans, goats, and cats release carbon dioxide during photosynthesis.

	[image: image44.wmf]  
	D.
	Humans, goats, and cats release oxygen during respiration.
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	A single gene can influence ________________.

	 
	 
	 
	 
	 

	[image: image45.wmf]  
	A.
	only a single trait

	[image: image46.wmf]  
	B.
	more than one trait

	[image: image47.wmf]  
	C.
	more than one trait only if the gene splits

	[image: image48.wmf]  
	D.
	only a specific trait
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	Look at the picture below to answer the question.

[image: image49.png]




	 

	Which base in the above structure is replaced by uracil in an RNA molecule? 

	 
	 
	 
	 
	 

	[image: image50.wmf]  
	A.
	1

	[image: image51.wmf]  
	B.
	2

	[image: image52.wmf]  
	C.
	3

	[image: image53.wmf]  
	D.
	4
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	The rock cycle is based on which principle of matter?

	 
	 
	 
	 
	 

	[image: image54.wmf]  
	A.
	Reformation of Matter

	[image: image55.wmf]  
	B.
	Destruction of Matter

	[image: image56.wmf]  
	C.
	Conservation of Matter

	[image: image57.wmf]  
	D.
	Complete Change of Matter
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	The crustal plates on Earth move about ________.

	 
	 
	 
	 
	 

	[image: image58.wmf]  
	A.
	10 meters per year

	[image: image59.wmf]  
	B.
	1 kilometer per year

	[image: image60.wmf]  
	C.
	5 centimeters per year

	[image: image61.wmf]  
	D.
	2 meters per day
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	Earth processes, such as erosion, plate movement and atmospheric composition ____________.

	 
	 
	 
	 
	 

	[image: image62.wmf]  
	A.
	have changed considerably over time

	[image: image63.wmf]  
	B.
	have changed slowly over a long period of time

	[image: image64.wmf]  
	C.
	are similar to those that occurred in the past

	[image: image65.wmf]  
	D.
	have not changed at all
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	Which feature is evidence that many continents were at one time near Earth's South Pole?

	 
	 
	 
	 
	 

	[image: image66.wmf]  
	A.
	earthquakes

	[image: image67.wmf]  
	B.
	mid-ocean ridges 

	[image: image68.wmf]  
	C.
	volcanoes

	[image: image69.wmf]  
	D.
	glacial deposits
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	The Himalayan mountain ranges formed by two colliding continental plates are continuously rising at a rate of 5mm every year. It can be concluded that ________. 

	 
	 
	 
	 
	 

	[image: image70.wmf]  
	A.
	in the past they were much lower 

	[image: image71.wmf]  
	B.
	in the past they were much higher 

	[image: image72.wmf]  
	C.
	its height will increase at the same rate 

	[image: image73.wmf]  
	D.
	its height will increase at an increasing rate 
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	A farmer uses chemical fertilizers to keep the soil fertile. Some amounts of fertilizer are found in the river. How will this affect the aquatic habitat? 

	 
	 
	 
	 
	 

	[image: image74.wmf]  
	A.
	The size of fish remains the same. 

	[image: image75.wmf]  
	B.
	The fertilizers will make the water clean.

	[image: image76.wmf]  
	C.
	The variety of aquatic plants will increase.

	[image: image77.wmf]  
	D.
	The amount of dissolved oxygen will decrease.
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	Which simple machine allows a person to lift heavy objects straight up by pulling down on a rope?

	 
	 
	 
	 
	 

	[image: image78.wmf]  
	A.
	pulley

	[image: image79.wmf]  
	B.
	axle

	[image: image80.wmf]  
	C.
	wedge

	[image: image81.wmf]  
	D.
	lever
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	A paper airplane is flying east at 5 miles per hour, and the wind is blowing north at 5 miles per hour. 

The paper airplane would be traveling _____ miles per hour to the northeast.

	 
	 
	 
	 
	 

	[image: image82.wmf]  
	A.
	5 

	[image: image83.wmf]  
	B.
	10 

	[image: image84.wmf]  
	C.
	7 

	[image: image85.wmf]  
	D.
	0 
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	Billy, who has a weight of 400 Newtons, and Sally, who has a weight of 300 Newtons, are playing on a seesaw.

	 

	If Billy sits 1 meter from the center of the seesaw, how far away from the center will Sally have to sit in order for the two children to balance each other?

	 
	 
	 
	 
	 

	[image: image86.wmf]  
	A.
	1 meter

	[image: image87.wmf]  
	B.
	0.75 meters

	[image: image88.wmf]  
	C.
	1.3 meters

	[image: image89.wmf]  
	D.
	2 meters
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	Billy, who has a weight of 400 Newtons, and Sally, who has a weight of 300 Newtons, are playing on a seesaw.

	 

	If Sally sat 2 meters from the center of the seesaw, how far away from the center would Billy have to sit in order for the seesaw to balance?

	 
	 
	 
	 
	 

	[image: image90.wmf]  
	A.
	2 meters

	[image: image91.wmf]  
	B.
	1.5 meters

	[image: image92.wmf]  
	C.
	1 meter

	[image: image93.wmf]  
	D.
	0.75 meter
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	Speed can be calculated by dividing distance by time. What would be your average speed if it takes you 30 min to travel 10 Km?

	 
	 
	 
	 
	 

	[image: image94.wmf]  
	A.
	300 km/hr

	[image: image95.wmf]  
	B.
	20 m/hr

	[image: image96.wmf]  
	C.
	300 km/min

	[image: image97.wmf]  
	D.
	20 km/hr
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	What is the acceleration of a road roller if its velocity increases from 10 m/s to 20 m/s in 2 seconds?

	 
	 
	 
	 
	 

	[image: image98.wmf]  
	A.
	0 m/s2

	[image: image99.wmf]  
	B.
	5 m/s2

	[image: image100.wmf]  
	C.
	10 m/s2

	[image: image101.wmf]  
	D.
	20 m/s2 
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	The table below shows the distance covered by an object at different time intervals.

[image: image102.png]Object| Initial Velocity | Final Velocity | Time Interval
(in nvs) (in ms) (in sec)

1 10 60 5

2 15 85 10

3 2 72 T2

L3 6 76 5






	 

	Which object moves with the maximum acceleration?

	 
	 
	 
	 
	 

	[image: image103.wmf]  
	A.
	1

	[image: image104.wmf]  
	B.
	2

	[image: image105.wmf]  
	C.
	3

	[image: image106.wmf]  
	D.
	4
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	Use the picture to answer the question.
[image: image107.png]




	 

	A ball is moved from point Q to point P in 10 seconds. What is the velocity of the ball?

	 
	 
	 
	 
	 

	[image: image108.wmf]  
	A.
	5 m/s

	[image: image109.wmf]  
	B.
	7 m/s

	[image: image110.wmf]  
	C.
	10 m/s

	[image: image111.wmf]  
	D.
	12 m/s
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	The frequencies of certain waves are listed below. Which wave has the shortest wavelength?

	 
	 
	 
	 
	 

	[image: image112.wmf]  
	A.
	1 hertz

	[image: image113.wmf]  
	B.
	2 megahertz

	[image: image114.wmf]  
	C.
	3 gigahertz

	[image: image115.wmf]  
	D.
	4 kilohertz
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	A drug test has to be carried out that involves the use of several animals. Which action would minimize the animals' pain? 

	 
	 
	 
	 
	 

	[image: image116.wmf]  
	A.
	use animals that are underdeveloped 

	[image: image117.wmf]  
	B.
	use only one animal at every step of the experiment 

	[image: image118.wmf]  
	C.
	use different types of animals for the same step of the experiment

	[image: image119.wmf]  
	D.
	use drugs that make animals unconscious while experimenting on them
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	A harmful virus is discovered by a scientist in a packaged food sample of a reputed food company. Ethically, the scientist must _____________. 

	 
	 
	 
	 
	 

	[image: image120.wmf]  
	A.
	report this issue to health agencies

	[image: image121.wmf]  
	B.
	report this issue to media agencies

	[image: image122.wmf]  
	C.
	ask for compensation from the food company

	[image: image123.wmf]  
	D.
	try to develop some medicine against the virus
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	A scientist plans to study the effect of harmful rays emitted by radioactive substances on animals. What plan of work must the scientist follow with his co-workers?

	 
	 
	 
	 
	 

	[image: image124.wmf]  
	A.
	Ask them to get successful results in all possible ways.

	[image: image125.wmf]  
	B.
	Try to mislead them about the harm caused by the rays.

	[image: image126.wmf]  
	C.
	Not inform them about hazards as the study is aimed at animals.

	[image: image127.wmf]  
	D.
	Inform them about the safety methods to save them from hazards.
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	John's mother receives a mild electric shock from the washing machine. He observes the following safety symbol on the machine.
[image: image128.png]




	 

	What safety procedure must John follow?

	 
	 
	 
	 
	 

	[image: image129.wmf]  
	A.
	use washing machine less frequently 

	[image: image130.wmf]  
	B.
	must try to repair the machine himself

	[image: image131.wmf]  
	C.
	must call an electrician to repair the machine

	[image: image132.wmf]  
	D.
	call his untrained friend to repair the machine 
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	The study of a medicine trial involves people as shown in the table.
[image: image133.png]Person involved | Role
P Scientist plans he experiment and analyzes resulls
Q Doctors. monitor patients

R. Support Sl _| help in administering the rug

S_Patients medicine tial is Gonducted on them

T_Healthy people |

"act as control for comparison with paients.






	 

	Which of these people must be asked for an consent to begin the study?

	 
	 
	 
	 
	 

	[image: image134.wmf]  
	A.
	S and T

	[image: image135.wmf]  
	B.
	P and S

	[image: image136.wmf]  
	C.
	P, Q, R, S

	[image: image137.wmf]  
	D.
	Q, R, S, T
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	Use the table to answer the question.
[image: image138.png]Description

Study 1

study of blood samples of patients

Study2

Study of the effect of a drug on patients

Study 3

Study of effect of a drug on healthy people

Study 4

Study of emitied exhaust gases by he venicios
owned by people of an area






	 

	Which of these studies will require approval from the subject on whom the study is taken place?

	 
	 
	 
	 
	 

	[image: image139.wmf]  
	A.
	only study 3 

	[image: image140.wmf]  
	B.
	only study 4 

	[image: image141.wmf]  
	C.
	studies 2 and 3 

	[image: image142.wmf]  
	D.
	studies 1,2 and 3
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	The steps below were carried out by a group of scientists.

[image: image143.png]Step 1: bred animals in a ventilated cage

Step 2: used a higher dose of the drug than required

Step 3: used pain relieving drugs to ease the suffering
of animals

Step 4: allowed only trained staff to handie the animals |






	 

	Which step was incorrectly carried out by scientists during the experiment? 

	 
	 
	 
	 
	 

	[image: image144.wmf]  
	A.
	step 1

	[image: image145.wmf]  
	B.
	step 2

	[image: image146.wmf]  
	C.
	step 3

	[image: image147.wmf]  
	D.
	step 4
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	Which of the following principles describes Earth's present day activities being the key to Earth's past history?

	 
	 
	 
	 
	 

	[image: image148.wmf]  
	A.
	succession

	[image: image149.wmf]  
	B.
	radioactivity

	[image: image150.wmf]  
	C.
	uniformitarianism

	[image: image151.wmf]  
	D.
	absolute age
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	What type of simple machines make up a wheelbarrow?

	 
	 
	 
	 
	 

	[image: image152.wmf]  
	A.
	lever and a wheel and axle

	[image: image153.wmf]  
	B.
	pulley and wedge

	[image: image154.wmf]  
	C.
	block and tackle and screw

	[image: image155.wmf]  
	D.
	inclined plane and wedge
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	Forces that are equal in magnitude but in opposite direction acting on an object along a straight line will cause ________________.

	 
	 
	 
	 
	 

	[image: image156.wmf]  
	A.
	the forces to spin out of control

	[image: image157.wmf]  
	B.
	the forces to cancel one another

	[image: image158.wmf]  
	C.
	changes in the speed of the object's motion

	[image: image159.wmf]  
	D.
	changes in the pressure of the object's motion
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	The speed of two cars at two positions is shown in the table below.
[image: image160.png]Cars | Velocity at position P | Velocity at position Q

X__[1oms 20mis

Y [20ms 30 mis






	 

	If both the cars take 10 seconds to move from position P to Q, what is their acceleration? 

	 
	 
	 
	 
	 

	[image: image161.wmf]  
	A.
	car X 1 m/s2, car Y 1 m/s2

	[image: image162.wmf]  
	B.
	car X 1 m/s2, car Y 2 m/s2

	[image: image163.wmf]  
	C.
	car X 2 m/s2, car Y 1 m/s2

	[image: image164.wmf]  
	D.
	car X 2 m/s2, car Y 2 m/s2
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	A feather and a coin are dropped in a vacuum chamber. What will be the acceleration of the feather and the coin when they reach the ground?

	 
	 
	 
	 
	 

	[image: image165.wmf]  
	A.
	acceleration of both will be zero 

	[image: image166.wmf]  
	B.
	acceleration of both will be constant but non-zero 

	[image: image167.wmf]  
	C.
	acceleration of the feather will be more than that of the coin 

	[image: image168.wmf]  
	D.
	acceleration of the coin will be more than that of the feather 
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	Which of the following can best help to determine if one object's inertia (mass) is greater than another's if a balance is not used?

	 
	 
	 
	 
	 

	[image: image169.wmf]  
	A.
	Throw the objects at a target and see which one gets there first.
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	B.
	Put the objects in separate hands and raise and lower your hands repeatedly.
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	C.
	Place the objects in water and see which one raises the water level the highest.
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	D.
	It would be impossible to determine which has a greater mass without a balance.

	 


	Question 41 of 43

	Two bundles of science books are tossed off the school roof. There are two books in the first bundle and the other bundle contains 14 books. Both bundles are dropped from the roof at the same time. 

Which of the following statements is true?
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	A.
	Bundle two is seven times heavier than bundle one so it falls seven times faster than bundle one.
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	B.
	Bundle two has seven times the force acting on seven times the mass so it falls as fast as bundle one.

	[image: image175.wmf]  
	C.
	Bundle one is seven times lighter than bundle two so it falls seven times slower than bundle two.
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	D.
	The force acting on bundle one and the force acting on bundle two are the same.

	 


	Question 42 of 43

	Two identical plastic bottles are dropped at the same time from a high tower. One of the bottles is completely filled with water and the other is only half full of water. 

Which of the following statements is true?
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	A.
	The amount of water doesn't matter because there is no air resistence.
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	B.
	The bottles have the same air resistence, but the filled bottle is heavier and will hit the ground first.
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	C.
	The bottles experience different air resistences so the lighter bottle will hit before the filled bottle.

	[image: image180.wmf]  
	D.
	The bottles will hit at the same time because they are accelerating due to gravity and they encounter the same air resistence.

	 


	Question 43 of 43

	A car is speeding on a racetrack. The car begins to make a turn and all of a sudden it runs through a large amount of oil on the track. 

According to Newton's third law, which statement best describes what happens to the car?
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	A.
	The tires spin faster which slows down the car.
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	B.
	The car's tires continue to push against the road, but the road pushes on the tires with double the force. This causes the car to spin. 

	[image: image183.wmf]  
	C.
	The oil prevents the road from pushing on the tires with a force equal and opposite to the force which the tires apply to the road. This causes the car to move in a straight line off the track.
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	D.
	The car's tires stop pushing on the road while the road continues to press against the tires. This causes the car to slide.
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